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PART A: Vocabulary
fhrections: Choose the word or phrasc (1), (2), (3), or (4) that best complctes cach senfence.
Then mark the correct choice on your aaswer sheet.

- I-——- the argument because I didn’t know enough about the subject.
1) depicied 2) confronied 3) dropped 4) breached

2-  Because my husband is a --—----——- suppuorter of the high schoul football team, he donates
money to their organization every yvear.
1) vcalous 2y anomalous 3) reeeplive 4) successive

3-  Since the journey is -—-----—--, be sure to bring a first-aid kit.
1) courageous 2) cautious 3) ecnormous 4) perilous

4-  The writer's stories appeal to a wide range of people—young and old, ---------- and poor,
literary and nonliterary.
l) economical 2} financial 3) aftluent 4) elite

5-  His nostalgic -—--—--—--- of growing up in a small city are comical, though they are perhaps
embellished for comic effect.
[} impacts 2} accounts 3) entertainments  4) bibliographies

6-  On a chilly night, vou might like to curl up by the fireside and --------—- a cup of hot
chocolate while reading onc of Thurber’s books,
1) imbibe 2) amalgamate 3) relieve 4) fascinate

7-  Although Mr, Jackson was ----——-----, he atiempted (0 be jovial so that his collcagues a¢
the mecting wouldn’t think there was a problem.
1) unpretentious 2) painstaking 3) apprehensive 4) attentive

8-  Obviously the network i$ overreacting and engaging in ----——--—-- when they say “535
million people are in danger!” for normal thunderstorms.
[} distinction 2) exaggeration 3) expectation 4) justification

9- My high school biology teacher loved to ---------- from scienee into personal ancedoices
about his collcge adventures,
1) evolved 2) converted 3) reversed 4) digressed

10- Landing a planc on an aireraft carricr requires a great deal of -—-—--—- , as ¥ou can crash
if you miss the landing zonc by cven a little bit,
1) precision 2) innovation 3) superiority 4) variability
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PART B: Cloze Test

Directions: Read the fellowing passage and decide which choice (1), (2}, (3}, or {(4) best fits each
space. Then mark the correct choice on vour answer sheet.

For some time now, medical scientists have noted an alarming increase in diseases of
the heart and circulation among people who smoke cigarettes. (11) --=---nm-- in the
bloodstream causes blood vessels to contract, thus (12) -—---—-- circulation, which
cvenlually leads 1o hardening ol the arlerics, (13) --—--e-mm- the arterics stillen, less
blood reaches the brain, and the end result of this slowdown is a cerebral hemorrhage,
commonly (14) -——--—--- (o as a “streke™, In addition, (15} --——--—- reduces the ability
ol the hemoglobin to release oxygen, resulting in shoriness of breath,

11- 1) The presence of tobaceo is found
2} The presence of tobacco it is found
3) To be tound the presence of tohacco
4) 1t has been found that the presence of tobacco

12- 1)slows 2) to slow 3) slowing 4y 1t slows
13- 1)So 2V AsS 3) Afterwards 4) Due to
14- 1) referred 2) that reterred 3) referring 43 it is referred
15- 1) bloodstream’s tobacco 2) the tobacco i bloodstream it
3) tobacco in the bloodsiream which 4) tobacco in the bloodstream

PART C: Reading Comprehension

Dircctions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheef.

PASSAGE I:

RBiomass, derived [rom rees, agricultural regidues, lorest residucs, aquatic plants, and
crops 15 mainly composed ol organic and inorganic maller, It is mostly lound in a solid
[orm, Carbohydrates, the main biomass components, can be classilied into cellulose,
hemicellulose. and lignin. Biomass samples may contain varying amaunts of moisture
that can be medified when exposed to air. Residual plant bicmass is a lignocellulosic
source in the form of agricultural or forestry residues that has been considered as the
most abundant and renewable natural resource. Such residues can potentially be
converted into several value-added products, such as hiofuels and chemicals. Even
though there are abundant lignocellulosic sources for bioconversion to ethanol, the
greatest challenges for industrial-scaled biorefinery are related to solving logistical
supply issues of getting biomass to an ethanol plant and operating such facility at
cost-effective scales. To produce ethanol. pretreatment. enzymatic hydrolysis,
[crmentation, and cthanol recovery are commonly required. The pretrcatment s
cssential lor scparating (ree ccllulosce [rom biomass and also lor cllicient cnzyinalic
hydrelysis. Physical, chemical, biological, and physico-chemical pretreaiments can be
applicd 1o the conversion process ol biomass into ¢thanol, The cnvyme hydrolysis
process 1s performed by microbes that efTiciently scercie cellulose enzyme, resulling in
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17-

18-

19-

20-

hydrolysis of cellulose to glucose. Enzyme related and substrate related factors are
most influential in enzymatic hydrolysis of cellulose in hiomass. The termentation
process also requires the action of microbes that can convert glucose to ethanol.

According to the passage, all the following statements are true EXCEPT ---—-------,

|} Carbohydrates can be classified into cellulose, hemicellulose. and lignin.

2) Biomass moisture can be modified when exposed to air.

3) Residual plant biomass can be in the form of agricultural or forestry residues .

4) The pretreatment for the conversion of biomass into ethanol is either physical or chemical.

[t can he inferred from the passage that -—————-—--,

1) Residual plant biomass is considered the most abundant and renewable natural resource.

2) Onc ol the processes [or converling biomass 1o cthanol 1s perlormed by microbes.

3) The only [actor thal can inpacl engymalic hydrolysis ol ccllulose in biomass is the
cnzyme related factor.

4) The enzymatic hydrolysis is essential for clficient pretreatment,

According to the passage, all the following statements about biomass are true EXCEPT

[} 1t 15 mainly found in a solid form.

2} Its main components are carbohydrates.

3) Its conversion to ethanol is impossible due to logistical 1ssues.

4) 1ts samples may contain different amounts of moisture.

The passage probably continucs with a sentenee about ---—------ '

1) enzymatic hydrolysis 2) ethanol recovery

3) ethanol production 4) pretreatment

According to the passage, hiomass can be derived from all the followings EXCEPT ---———-.
1) trees and crops 2) agricultural and forest residues

3) aquatic plants and crops 4) organic and inorganic matter

PASSAGE 2;

Agricultural output of crops with high nutrient demand requires soils to be amended
with nitrogen fertilizers. Following the green revolution and development of the ability
Lo synlhesize mincral lertilizers, agricultural outpul has incrcased signilicanily o Leed
the human population. This incrcase in mincral [eriilizer usage and agricultural output
has had cnvironmental side elfeets, Soluble mineral [ertilizers are prone 10 lcaching
and losscs 1o walcr ways, where they contribule to cutrophication and degraded walcr
quality. Additionally, ‘lessil [ucl use in the production of lertilizers contributes 1o
ingreascy in atmospheric greenhouse gases. In order (o deal with the demands of an
increasing human population, agricultural production must become both more
sustainable and more efficient in order to minimize impacts on the environment. An
alternative method to provide nutrients for agriculture is fertilization of seoils with
inputs approved for organic management. These influential organic management
techniques exclude the use of synthetic imneral fertilizers and instead rely on addition
of nitrogen via amendments with compost, manure, or green {plant-based) manures.
Further, nutrient availability varies by the tyvpe and ratios of organic fertilizers. For
instunce, the carbon 1o nitregen ratio ol organic amendments  impacts  the
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decomposition rate. Previously. the use of organic management has been observed to
reduce nitrogen losses to sub-surface waters.

It can be inferred from the passage that -—--—--—-.

1) Utilizing organic management increases nitrogen losses to sub-surface waters.

2) Ratio of organic fertilizers is the only variable that can atfect nutrient availability.

3) The demand ol an increasing hwman population is less suslainable and more
cllicicnt agricultural production.

4) Soluble mineral fertilizers can causc cutrophicaiion and degraded waier quality,

According to the passage, all the following statements are true EXCEPT -,

1) The increase in mineral fertilizer usage and agricultural output has no influence on
the environment.

2) Fertilization of soils with inputs approved for organic management is one of the
methods to provide nutrients for agriculture.

3) The organic management techniques rely on addition of nitrogen via amendments
wilh compost, manure, Or grecn Manures.

4) Ulilization of lossil [uel in the production ol [ertilizers can increasc he aimospheric
greenhouse gases,

What is the main purpose of this passage?

1) To explain about fossil lugl use in the produciion ol feriilizers

2} To explain the effect of fertilizers and the role of organic management in contrelling it

3) To explain the development of the ability to synthesize mineral fertilizers

4) To explain about the carbon to nitrogen ratio of organic amendments

What is the author’s attitude toward organic management?

1) Disregard 2) Suspicion 3) Admiration 4} Indifference
The word ‘decomposition’ in the passage (underlined) is elosest in meaning (0 --—--—--—,
1) putrefaction 2) extension 3) compression 4) eermination
PASSAGE 3:

Increasing profit from sovbean farming is 4 current topic of interest in the agricultural
conununity. Soyvbean oil can be extracted and used in processes ranging from cooking
Lo biodicsel manulactiuring. These two processes inllucnce cach other, becausce as meal
production increascs, so docs oil production (o keep up with the increased volume ol
sovbcang being processed. Protein and oil content ol sovbean delerming the potential
valug of the products made in ils processing. Processors have long believed that there
arc geographical differences in protein and oil conteni, and thal carclul source
identi fication would oller opportunitics for greater value caplure, Several studics have
been conducted to estimate any potential value available lor caplure in terms of high
protein or oil contents. Soybean breeders and growers have. for the most part, focused
primarily on yield instead of composition in choosing which traits te select and which
varieties to plant. This is because the supply chain participants have chosen not to
invest n the testing and handling infrastructure that would preserve component values.
Concerns about additional operating and transportation costs had been the limiting
factor to the development of more managed sovbean supply chains. The current goal is
to separate on the basis of protein and oil content into higher-value and lower-value
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categories. There must be easily identifiable differences on which the elevator can
segregate the soyvheans.

According to the passage, all the following statements are truc EXCEPT --—-—-—,

1) Soybean oil can be extracted and used in biodiesel manufacturing.

2) Concerns about additional costs was the limiting factor to the development of more
managed soyvbean supply chains .

3) Soybeans can be grouped into higher-value and lowcer-valuc calegorics.

4) Very lew studics, i any, have been carried oul 1o estimale the potential value lor
capturg in terms ol high proicin or oil conlents,

It can be inferred from the passage that -—----—-,

1) The clevator can ¢asily segregaie the soybeans without identiliable dilferences.

2} The potential value of the products is determined by protein and oil content ot soyvbean.

3) The supply chain participants invest in the testing and handling infrastructure that
would preserve component values.

4) As oil preduction increases. so does meal production to keep up with the increased
volume of soybeans being processed.

The word *trait’ in the passage {underlined) is ¢losest in meaning to ---——--—---,

1) category 2) attitude 3) species 4) characteristic
The word ‘preserve’ in the passage (underlined) is closest in meaning to ------—----,
1) mainlain 2} damage 3)neglecl 4) subverl

The word ‘its’ in the passage (underlined} refers to ----—---—-- 5

[} protein 2) soybean 3) value 4) content
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